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SECONDARY SCHOOL EXAMINATION - 2021 (ANNUAL)

Mathematics (MODEL SET)
NG|

G el 1w = 138

Total number of questions = 138
gherlefal & fery fA5er — quiieh — 100
Full Marks- 100

Instructions for the candidates :-

1. Remefl aUrEva *e TRl H SR |
Candidates are required to give their answer in own words as

far as practicable.
2. QI IR BIRR W Y gy &fe ol Mfds &< B |

Figures in the right hand margin indicate full marks.

3. 39 UT-UF Pl LOFYAD g & fory 15 fiee o1 aifaRea ww fean an 2|

15 minutes of extra time has been allotted for the candidates to read
the question paper carefully.

4. g8 9T UA qI WUS| ¥ & Wre—3f Ud Wue—4 |
This question paper is divided into two sections: Section-A and
Section-B.

5. U3 ¥ 100 TS U & | FoTH I fdT 50 TeAl BT IR <A1 3ffard

2 | U9 ¥ 3ff¥d Ul & IR o IR U2H 50 ITRI BT HedTdhT ISR §IR]

T ST | U6 B fov 1 3ip HeiRT 2 | 9B STR Bl Sl R T
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OMR - SR U= H & T FET g7 Bl dlel /lel dict U9 A A% | fbait 1

UHR BT @GR /TRl U / &le / ARG 3G BT IR GRIDT H YART
FRAT A1 B, AT YRIel YR I BRI |
In section-A there are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answers will be evalu
-ated by the computer in case more than 50 questions are answered.
Each question carries 1 mark. Darken the circle with blue/black ball
pen against the correct option on OMR sheet provided to you. Do
not use whitener/Liquid/Blade/Nail etc. on OMR sheet, otherwise
the result will be invalid.

6. WUS—q ¥ 30 7Y STNIY U & | T4 & fb=el 15 Ul BT SR <1 Afrard
| Ud® @ ford 2 3 MiRd & | 39 3ffdRed 39 Wos H 08 e I

wedq fau v €, R 3 5=l 4 Ul &1 SR <91 2 | S B ol 5 3fh
FEiRa 2)

In section-B, there are 30 short answer type questions out of which
15 (fifteen) questions are to be answered. Each question carries 2
marks. Apart from this, there are 08 long answer type questions,
out of which any 4 questions are to be answered. Each question

carries 5 marks.
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7. 50 UBR & SolagiNe UG BT GIRT QUi afoid ¢ |

Use of any electronic appliances is strictly prohibited.

Wus—31 / SECTION-A
qEfs u% / Objective Type Questions
U AT 1 ¥ 100 T& & D Ued & A1 IR fadbed fy U 2, R 4
F21 & | {52l 50 UeHl & IR < | U7 §RT g1 MY &l fawed 1 OMR fie
R ffed & | (50 X 1=50)
Questions No. 1 to 100 have four options, out of which only one 1s correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-sheet. (50 X 1=50)

92
115 PV ST oY

A 28

23
3

C. g D.

NSRS

The simplest form of 191—25 is

46
23
3

C. g D.

2. <1 URYY IR & 9 fdeda fhd- uREy dwar 8 dadl g ?

A. B.

A W n |~

A. 1 B. 2

C.3 D. 3d
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How many maximum rational numbers can be possible between two
rational numbers ?

A. 1 B. 2

C.3 D. infinite

3. fr=faRad # fhaer gemead 99R did & ?

7 13
A £ B. =2
88 210

15 D 17

" 1600 " 110

Which of the following has terminating decimal expansion ?

7 13
A 88 & 210
15 17
C. — D. —
1600 110

4. gguc dy? + by + a @ DI BT YOHHA BRI —

A. B.

C. - D.

o o ald
o o o

The product of the zeroes of the polynomial dy? + by + a will be

A2 B. %

C.- Cgl D. &
5. 18 &1 URHIHROT 0N & —

A3 B. 2

C. V6 D. V18

The rationalising factor of V18 is -
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A. 3 B. V2

C. 6 D. V18

The smallest prime number is -
A.3 B. 2
C. 1 D.o
7. AT a=bq+r &I a 3R b gar® QUIleh 8l a1 —
A.r>b B.r<o0
C.r<b D. 574 ¥ ®Ig &l
If a=bqg+r, where a and b are positive integers, then
A.r>b B.r<o0
C.r<b D. None of these

8. fr=faRad & &9 uRyy Iw=ar € ?

A. 4+43 B. V7
6v5
C. s D. s

Which of the following is a rational number ?

A. 4+43 B. V7
6v5
C. 8 D. 5
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9. fgumd sgue X2+ 12x+ 35 @ IRP © —

A. S &FTcHSB B. S ZRUTcH®

C. SFI SRIeR D. U &-IcHd T THRT FUTHD

The zeroes of the quadratic polynomial x? + 12x + 35 are -

A. both positive B. both negative

C. both equal D. one positive and one negative
10. fr=faRad & @9 vy A € ?

A. V121 B. V196

C. V27 D. V289

Which of the following is an irrational number ?

A. V121 B. V196

C. V27 D. V289
1.  9gUg (5y2-25) @ D © —

A.5 -5 B. 5, -5

C. 5, V5 C. 5,5

The zeroes of the polynomial (5y? - 25) are -

A.5, -5 B. V5, -5

C. 5, V5 C. 5, V5

12. U fgorll 9gUS & IIDT BT N qAT UK HA: 3 TAT —40 &, Al
fgeamh qgug & —
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A. x?-3x-40 B.x2-3x+40
C. x>+ 3x-40 C.x2+3x+40
The sum and product of the zeroes of a quadratic polynomial are 3
and -40 respectively then the quadratic polynomial is -
A. x?-3x-40 B.x%-3x+40
C. x>+ 3x-40 C.x2+3x+40
13, T FHIGROT X+ 2y =4 T 2X+ 4y =8 HT & —
A. U B B. &I &1
C. ®Ig &1 81 D. 3[R &
The pair of the equations x + 2y = 4 and 2x + 4y = 8 has
A. one solution B. two solutions

C. no solution D. infinitely many solutions

14.  IfS 98U X2+ ax-b & YRS (G- & hA I, A b HT AN R —
A 1 B. -1
C.0 D. a?
If zeroes of the polynomial x? + ax - b are reciprocal to each other,
then the value of b will be -
A1 B. -1
C.0 D. a?

15.  3TEq< BT PIVT Bl & —
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A. 60° B. 45°
C. 90° D. 30°
The angle of the semicircle is -
A. 60° B. 45°
C. 90° D. 30°
16.  fg=Td FHIaRUT ax? + bx + ¢ = 0, W&l a#0, & IRAdd e ol © IQ
A.b?-4ac>0 B. b? = 4ac
C.b?-4ac=0 D.b%?-4ac<0

The quadratic equation ax? + bx + ¢ = 0 where a=0, has no real

roots, if
A.b?-4ac>0 B. b? # 4ac
C.b%2-4ac=0 D.b%?-4ac<0

17.  If< o T BWWTZXZ-X-6=OE%‘1?’[§TT‘I>[(}X + [1;) =
A. 6 B. -6
C. ¢ D.-¢

If o and B are the roots of the equation 2x2 - x - 6 = 0, then

(5+ )"
A.6 B. -6
C. : D.-l
6 6
18. gHIAGR ST —3, 4, 11, 18, o PT 2191 UG © —
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A. 143 B. -143
C. 127 D. 137
The 21stterm of the A. P. : -3, 4, 11, 18 ......... is -
A. 143 B. -143
C. 127 D. 137

19. fa=faRaa § 9 d9—a1 fgard afiexor g ?

A x3-x2=(x-1)3 Bx2-4Vx+14 =0

C.x+i=x2 D.x2+Xlz=5

Which of the following is a quadratic equation ?

A x3-x2=(x-1)° Bx2-4Vx+14 =0
C.x+l=x2 D.x2+lz=
X X
20. HIGR Il 80, 76, 72, 68, ... H DA UG 0 T ?
A. 20 df B. 21 df
C. 22 df D. 23 df
Which term of the A. P. 80, 76, 72, 68, ........ is0?
A. 20" B. 21st
C. 22 D. 23

21. Ife THIGR S BT AENT US 6 — 4n ©, O SUHT Fd—r=<R T —
A.6 B. 4

C. -4 D. 2
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If general term of an A. P. is 6 - 4n, then its common difference will
be -
A. 6 B. 4
C.-4 D. 2

22.  fo=folRad & &9 9HaR S & 7

A.-2,4,-6,8 ....... B.a, a? a3 a4, .......
3 1.1 .3 . D.1,3,9 27, ...
272727 2

A.-2,4,-6,8 ....... B.a, a2 ad a4, .......
c.3 1 .1 3 D.1,3,9,27, ...
272 72 2

23, Wd fag & s € —
A. (-1, -1) B. (1, 1)
C. (-1, 0) D. (0, 0)

The co-ordinates of the origin are -

A. (-1, -1) B. (1, 1)
C.(-1,0) D. (0, 0)
24 uf: AABC ~APQRaom QR- 2 o ara(APQR)
BC 3 area (AABC)
4 2
A B. 2
2 3
C. | D. >
If AABC ~ APQR and QB = 2 then 2B (APQR)
BC 3 area (AABC)
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A. 9 B. ;
9 3
C. A D. 5
25, WAL AMQAHXPTATE
60°
) 50°
Q R\Q 4
A. 110° B. 60°
C. 70° D. 35°
In the given figure, the value fo x is -
P
60°
] 50
Q RN\)x 7~
A. 110° B. 60°
C. 70° D. 35°

26. fd=gail R(0, 6) @1 S(8, 0) &I M arell Y@ge & dea—fdg & Frams

§ _
A. (0, 0) B. (0, 8)
C. (8, 16) D. (4, 3)

The co-ordinates of the mid-point of the line segment joining the

points R(0, 6) and S(8, 0) are -
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A. (0, 0) B. (0, 8)
C. (8, 16) D. (4, 3)

27. fagaii (4, 6) AR (8, 2) & dra & A T —
A. W2 sBTS B. 62 3ol
C. 8V2 &1 D. \2 gaTg

The distance between the points (4, 6) and (8, 2) is -
A. 442 units B. 642 units
C. 842 units D. \2 units
28.  Sin?60° + cos?60° =
A 2 B.3
C.1 D.0
29. Ife Rgd BRI BT I WG B, a1 @ gl -
A. BRI Tl B. ¥HTR
C. gz yfcresdl D. ufcreesdT a1 HuTet

If a pair of linear equations is consistent, then the lines will be -

A. always coincident B. parallel

C. always intersecting D. intersecting or coincident
3. fIg (-6, 55 ) fort urg # Rerg ® 7

A. e B. e

C. g D. =rqel
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In which quadrant does the point (-6, 55 ) lie ?
A. first B. second
C. third D. fourth

31.  APQR# 4T QR &I fdg S 0% 39 UHR ¢RI AT § fh ZPRS = 120°
3R ZQPR = 63° @1 Z/PQR =
A. 63° B. 57°
C. 60° D. 67°
In APQR, side QR is extended to a point S such that Z/PRS = 120°
and ZQPR = 63° then Z/PQR =
A. 63° B. 57°
C. 60° D. 67°

32. I Bl Br(ar & PIvr &7 AAfgHTSd fAURId oIl BT FAfGHIRTT R 2,

ar st 8r —
A. THfgaTg B. ¥HaTg
C. fawHarg D. S

If the bisector of an angle of a triangle bisects the opposite side,
then the triangle will be -

A. isosceles B. equilateral

C. scalene D. right-angled

33. AABC# DE||BCaer AR- 2 o AL e e
DB 3 EC
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A. g B. g
3 2
C. ) D. 5
In AABC, DE || BC and %= % then the value of 2E will be -
3 2
A. s B. 3
3 2
C. ) D. s
a4, afX B ABC o DEF & 2B = BC G 3 ey 21 o —
DE FD
A. /A= /F B. ZB=ZE
C.«zB=«D D.A=2D
If in triangle ABC and DEF, AB_ BC then they will be similar, when
DE FD
A. ZA=/F B. ZB=ZE
C.«zB=«D D.A=2D

35. IS Mg H PQ, 0 &= dTel g @ wef v 21 afe 0Q = 3d#Ho, PQ

P
=4 9¥lo a1 OP =
Q
A. 4 990 B. 6 90
C. 530 D. 7 990

In the given figure PQ is a tangent to a circle with centre at O. If OQ
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=3 cm, PQ =4 cm then OP =
Q
A. 4 cm B. 6 cm
C.5cm D. 7 cm
3. x—31& | a5 P8, 12) &1 ¢ & —
A. 8 g&TS B. 12 s&Ts
C. 20 s&Ts D. V208 s&Ts

The distance of the point P(8, 12) from the x-axis is -
A. 8 units B. 12 units
C. 20 units D. v208 units

37. g & (Bl favg R el 75 el v 3R 99 fawg 9 o arell B &

T BT IO BT & —
A. 450 B. 60°
C. 90° D. 1200

The angle between tangent at a point on a circle and the radius
through the point is -

A. 45° B. 60°
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38.

39.

C. 90° D. 120°

& T anepfa W, TP @ TQ &1 el 3@ O & dTdl g W 59 UBR &
f6 «PTQ =50°dr ~POQ =

A. 130° B. 25°

C. 45°

In the given figure TP and TQ are the two tangents to the circle with
centre O if ZPTQ = 50° then ZPOQ =

A. 130° B. 25°

C. 45° D. 50°
T

/
Q

fau v gHar APQR #H /PRQ = 0, PQ = 3 3o 92 PR = 6 9o dr

6=
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A. 30° B. 60°
C. 450 D. 75°
P
3 em 6 cm
90° 0
QUL R

In the given right APQR, Z/PRQ=6,PQ=3cm,and PR=6cmthen 6=

A. 30° B. 60°
C. 450 D. 75°
P
G, 6 cm
90° 0
o R
40. 3IfT tanA = % , T COSA &7 919 & —
3 4
A. 5 B. 5
S S
C. 1 D. 3
If tanA = % , then the value of cosA is -
3 4
A. 5 B. 5
S S
C. 4 D. 3
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Co cot 44°
41. tan 46°
A. % B.0
C. -1 D. 1

42.  T=faRad # faddr AF Fa9 o1t © 2
A. tan45° B. sin45°
C. sin30° D. cos90°
Which of the following has the maximum value ?
A. tan45° B. sin45°
C. sin30° D. cos90°

43.  IfT U g &1 Rl 88 |HI0 7 AT 39! BT © —
A. 7 30 B. 14 90
C. 21 &0 D. 28 &0
If the circumference of a circle is 88 cm. then its radius is -
A.7cm B. 14 cm
C.21cm D. 28 cm

44. I APQR, R R 9AGIT B, @ sin (P + Q) &1 A9 & —
A0 B. 1

C.—1 D.

W =

If APQR is right angled at R, then the value of sin (P + Q) is -

A.0 B. 1
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C.—1 D.

W [—

45. Ife % = 15° T V3coseca =

V3

A. ? B.2

C.3 D 1
. -3

If % = 159 then v3cosecao =

A B B. 2

2

C.3 D. 1

. '3

46. e r, FoT r, FBroamsil drel &1 gl @ &=l BT AN, r BoAn arel g9 @

A% & IIER B, dl —
Acr=r +r, B.r2+rz2<r
C.r2+rz=r D.r,+r,<r
If the sum of the areas of two circles with radii r, and r, is equal to
the area of a circle of radius r, then
Acr=r +r, B.r2+r2<r
C.r2+r2=r D.r +r<r
47. sin (90°-A)=
A. sinA B. tanA
C. secA D. cosA
48. UF 15 WMo o4 A U& SHeaer IR & A a@ vgaa 2| afy A dar
@ T 60° BT BT A1 B, A SR B TS & —
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A. 15 #o B. 7.5 #io
C. 540 D. 30 #io
A ladder 15 m long just reaches the top of a vertical wall. If the ladder
makes an angle of 60° with the wall, then height of the wall is -
A .15 m B.7.5m
C.5m D.30 m
49. Cot1°. Cot 89° &1 A1 & —

A1 B.0

N |—

C.2 D.

The value of Cot 1° . Cot 89° is -

A1 B.

C.2 D.

N = O

50. r 35 arel el & AYOT IS BT SFBe BT ¥ —
A. T2 a3 ST B. 27tr2 97 ghTs
C. 3mr? 97t gre D. 47r? ot geprg
The total surface area of a sphere with radius r is -
A. Ttr? sq. units B. 21r? sq. units
C. 37r? sq. units D. 47r? sq. units
51. af< 6, 8, 9, X TAT 13 BT AT 10 B, AT X BT A BT —

A. 13 B. 12
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C. 15 D. 14
If the mean of 6, 8, 9, xand 13 is 10, then the value of x will be -
A. 13 B. 12

C. 15 D. 14

52. IS T Bl arg R A1 SRIHA 81 Sl ©, A1 2 Dl AT &1 SIgiri—

A. 27T B. 4 AT
C.6 1 D. 8 1

If the height and radius of the cone are doubled, the volume of the

cone will be -
A. 2 times B. 4 times
C. 6 times D. 8 times

53. fa=ferRad faazor & forw —

QI —3fRTeA| 05 | 5—10 [ 10—15 | 15—20 |20—25

RERAT 12 17 14 22 11

IgAD T BT =T & —
A. 15 B. 22 C. 20 D. 35

For the following distribution -

Class interval |0—5 [5—10 |10—15 | 15—20 | 20—25

Frequency 12 | 17 14 22 11

The lower limit of the modal class is

A. 15 B. 22 C. 20 D. 35
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b4, fEfeRad 5 & SF—71 3o g1 FuiRa 81 foar <1 gdr 8 2
A. AT B. A1egd
C. 9§ D. 59 ¥ ®Ig &l

Which of the following can not be determined graphically ?
A. mean B. median

C. mode D. none of these

55. Gl T & IMATHl BT AU 1 : 27 ¥ &, AT Sd! BRI BT AT & —

The volumes of two cubes are in the ratio 1 : 27, then the ratio of
their edges is -
A.1:9 B.9: 1
C.1:3 D.3: 1
56. Afe tan® =11 O &1 A BRIT —
A. 30° B. 45°
C. 90° D. 60°
If tanB = 1 then the value of 0 will be -
A. 30° B. 45°

C. 90° D. 60°

57. X YOIl dTell \AAdTg Fr{oT &1 &5hd & —
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A. X2 T g B. %}xZaﬁs—cms‘
C. 2wt .} x i gard
The area of an equilateral triangle with side x is -
A. X2 sQ. units B. ¥y sg. units
C. %3 X? sQ. units D. %} X §Q. units

58. 52 TR & UKl @I Ueb TgS! Pl 3] A8 hedR SHH I ATgeed] Udh Ul

frpTetT ST B | 39 WM 3T BT UTRIedT & —

1 2
A. %6 B. 3
c. 2 D. 1
39 1B

A card is drawn at random from a well-shuffled deck of 52 playing

cards. The probability of getting a queen is -

A B. 339
C. 359 D. 113
59. Ife P(E)= 0.08 a P(E') aR1&R & —

A. 0.92 B. 0.02
C. 0.08 D. 0.52
If P(E) = 0.08 then P(E') is equal to

A. 0.92 B. 0.02
C. 0.08 D. 0.52

2
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A. tan?0 B. sec?0
C. cot?0 D. -1
61. 05 =
A. 2 B. 1
9 2
S S
C. %0 D. 3

62. dgUT 2x2+ 5x-12 %1 UG & —
A. 1 B. 2
C.0 D.3

The degree of the polynomial 2x? + 5x - 12 is -

A1 B. 2
C.0 D.3
63. 7@ -
A. Toh IRAY =T B. T& 3Ry \w=n
C. U UTdhd = D. s 9 &g 81
N7 is -
A. a rational number B. anirrational number
C. a natural number D. none of these

64. X(x?+2x) =
A. x3 + 2x? B. x2 + 2x

C.x3 D. 1+ 2x?
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65. 28 TAT 72 B HO WO & —
A. 28 B. 1
C.4 D. 2
The HCF of 28 and 72 is -
A. 28 B. 1
C.4 D. 2
66. dgUE X2-X+ 1 YIB! BT AN BT —
A 1 B. -1
C.0 D. 2
The sum of the zeroes of the polynomial x? - x + 1 will be -
A1 B. -1
C.0 D. 2

67. (V2)? — 2

A. 2 B.0
C.2 D. 242

68. X+y=3TA3x-2y=4 BA & —
A x=2,y=1 B.x=1,y=2
C.x=-1,y=4 D.x=-1,y=-2
Solutions of x + y =3 and 3x - 2y = 4 are -

A x=2,y=1 B.x=1,y=2
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C.x=-1,y=4 D.x=-1,y=-2
69. AT 9gUS y2-y -6 YD o TAT BEI, Al a.f =

A.6 B. -6

C. 1 D. -1

If o and B are zeroes of the polynomial y? - y - 6 then a.p =

A.6 B. -6

C.1 D. -1
70.  fgoma |HeRor X2 - 5x - 300 = 0 @1 fafdadex g —

A. 1225 B. 1500

C. -1225 D. 1325

The discriminant of the quadratic equation x2 - 5x - 300 = 0 will be -

A. 1225 B. 1500
C. -1225 D. 1325
71, AR AT V18, V50, V98, V162 ....... BT FEAR T —
A 2 B. 242
C.3 D. 2V3
The common difference of the A.P. ¥18, V50, V98, V162 ....... is -
A 2 B. 2+2
C.3 D. 243

72. AT y? + 12:14Fﬁy -
y

< =

»
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A. 16 B. 12
C.8 D. +4
ify2+ L =14theny + i =
A. 16 B. 12
C.8 D. +4

73.  fe AR 1 &1 ndf ug 6n — 2 &I, A U8 U BT —
A 2 B. 4
C.-2 D. 10
If the n™ term of an A.P. is 6n - 2 then the first term will be -
A 2 B. 4
C.-2 D. 10
74. 35 (-6, 10) &1 BIfC T —
A. -6 B. 10
C.4 D. -16
The ordinate of the point (-6, 10) is -
A. -6 B. 10
C.4 D. -16
75. sec?A-tan’A =
A.0 B. 1

C. 1 D. 2

»
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76. AR Xy, zFAR AN HEA Y =

Z-X z+Xx
C.x+z D_X;FZ
Ifx,y,zare in A.P. theny =

Z-X z+Xx
A B. =

_|_
C.x+z D_X3Z
77.  sinA x cosec A =
A 1 B.0
C. -1 D. 2

78.  fa=gail A6, 0), B(14, 0) T C(16, 8) ¥ 1 1l &I &A% & —
A. 32T SHTE B. 16 @ g&1s
C. 44 T sHTS D. 64 T s%Ts

The area of the triangle formed by points A(6, 0), B(14, 0) and C(16, 8)

is -
A. 32sq. units B. 16 sq. units
C. 44 sq. units D. 64 sq. units

79. cot (90°-0)=
A. cotO B. tan0

C. cosecO D. sec0

80. S & 9Nl & M= (X, Y,), (X, Y,) T (X,, y,) €, T dseb & Aaznid

»
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XXX YitYotY, XXt Xy Yy, TY,
A (D T B.(5— =)
C. ( XXX Y4 YoYs ) D.X, +X,+X,y, +Y,+Y,

3 3

If the coordinates of the vertices of the triangle are (x., y,), (X,, ¥,)

and (x,, y,) then the coordinates of the centroid will be -

X1+X2+X3 y1+y2+y3) B (X1+X2+X3 y1+y2+y3 )
2 2 . 3 3
X -X,-X =Y. -

81. sin20° - cos70° =
A1 B.0
C. 2sin20° D. 2cos70°
82. (1-cos*A)=
A. sin?A(1+sin?A) B. sin?A(1-sin?A)
C. cos?A(1 - Cos?A) D. sin?A(1 + cos?A)
83. UfS V2cosH= 1 Al O FT A9 & —
A. 30° B.45°
C. 60° D. 90°
If v2cos6 = 1 then the value of O is -
A. 30° B.45°
C. 60° D. 90°

b
a4 & tano = p N cos6 s'1n6 _
q cos0 - sinf

»
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Srtatbmin A D 5 +
pP-q q-p
q-p p-qg
C.q+p D.p+q
If tan® = P then (mSE)—+S.Hle
q cos0 - sinO
A b*ta B qtp
P-q " q-p
q-p b-g
C. q+p D. p+q
85. IfT secA = 275 Tl sinA =
24 7
A. ¢ B. 2.
25 24
7 25
C. 25 D. 24
If secA = 275 then sinA =
A 2 B. .
C 25 " 24
7 25
C- 25 D. 24
86. tan245°-1=
A. 1 B.0
1
C. -1 D. 5
1 + tan’A
87. sec?A
A. sin?A B.0
C. 1 D. -1

88. AABC # fd=g D 3iR E %#eT: oreii AB @ AC R 39 UaR & &
DE[IBC |aft AR = 24 v AC = 18 W0 o1 AE =
DB 5
A. 6 0 B. 8 JHI0

»
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C. 1090 D. 12 90

In A ABC, D and E are points on the sides AB and AC respectively

such that DE || BC. If g'—]é = § and AC = 18 cm. then AE =
A. 6 cm B. 8 cm
C.10 cm D. 12 cm

89. TP ITAEI UTAT HhT AT AT Udh g ERT 3T BT YTiyeher il —
A. 1 B.

C. D.

W =
A= =

An unbiased die is thrown then the probability of getting a prime

number is -
1
A. 1 B. 5
1 L,
C. 3 D. 4

90. I 1 gl & eTAWell BT U 4 : 25 ©, AT D! ARl &7 rurd

ERT—
A.3:5 B.5:2
C.1:5 D.2:5

If the ratio of the areas of two circles is 4 : 25 then the ratio of their

radii will be -

A.3:5 B.5:2

C.1:5 D.2:5
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91. ! UPR W Bl g Ueb 1Y Bl TSS! H I Ueh URIT ATGe T Heprell STl

I SHD ol T BT AR gTell U=l 819 &l UTi¥ydhdr & —

1 2
A 5 B.
c. 2 D. 3

13 26

A card is drawn at random from a well shuffled deck of playing

cards, then the probability of getting a red face card is -

A S B. ;3
3 3
C. 3 D. %

92.  Ifq b g d1 A 3R ARAD HAI: 4.6 TAT 4.8 &, Tl 95D =
A5 B. 5.1
C.5.2 D.5.3
If the mean and median of a distribution are respectively 4.6 and
4.8 then mode =
A. 5 B. 5.1
C.5.2 D.5.3
93. VeI 8, 12, 7, 14, 6, 13, 15 HI AEADH BT —
A9 B. 10
C. 11 D. 12
The median of the observations 8, 12, 7, 14, 6, 13, 15 will be -

A9 B. 10

»
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C. 11 D. 12

94.  HIEO® BT M AT SR AR BT ST BT TR a-T6R BIAT & —
A. T B. A
C. 9§ D. 9 ¥ ®Ig &l

The difference of three times of median and two times of mean is

equal to -
A. mean B. median
C. mode D. none of these

95. U TSl B A drell Y &N 1 MAc | 9911 A1 HI0T 8iell & —
A. 30° B. 15°
C. 120 D. 6°
Angle subtended by minute hand of a watch in 1 minute is -
A. 30° B. 15°

C. 12° D. 6°

96. SR &I AT r qAT a1 h dTel T A9 dei &1 AT BRI —
A. %nrzh*a?rsw?f B. %anhaqsmé
C. % Tr?h? B gaTS D. 7ueh =9 S5TS
The volume of a right circular cylinder whose radius of the base is r
and height be h is

1 2 . .
A. 5 Ttr*h cubic units B. g Ttr’h cubic units

»
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C. % 7tr*h? cubic units D. 1tr?h cubic units
97. HAa1g st ABC #, af ADLBC dr AD? =

A. 3CD? B. 4CD?

C. 5 bC? D. CD?

In an equilateral triangle ABC, if AD_LBC then AD? =
A. 3CD? B. 4CD?

c. 3 bc? D. CD?

98. 3T r aret 3rEFel &7 IHUSH A% & —

A. Tir? @it gabTs B. U of gaord
2
C. 212 it s D. 37tr2 a7t g1

The curved surface area of a hemisphere with radius r is

B TTr2
2
C. 2mr? D. 37r? sq. units

A. Ttr? sq. units sQ. units

99. &I IS 3Mpfa H, O T &1 b= = a2 LAOC = 130°dr LOAC =

A. 65° B. 50°

C. 130° D. s ®Ig 8!
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100.

In the given figure, O is the centre of a circle and Z/AOC = 130°.

Then ZOAC =

A. 65°

C. 130°

14 &1 e s & —
A. XIV

C.NNI ™I 1

Tally mark of 14 is -

A. XIV

C. Nl ™ 1

B. 50°

D. none of these

B.TH ™ M

D.THL ™ 1

B.MH Ml M

D.THL M 1
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s — 9/ Section - B

Y STRIF 9 / Short Answer Type Questions

U3 AT 1 W 30 P oY SR € | 599 ¥ {8l 15 Yl P SR < | AP
ued & forw 2 3fd fifRa 2 | 15 X 2 = 30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 ques-
tions. Each question carries 2 marks. 15x2 =30
1. A=RI 72 3R 120 & F0 [0 M oGS AT & S & |
Find the L.C.M. of the numbers 72 and 120 by prime factorisation
method.
2. g # 32 o muRey de B |
Prove that 342 is an irrational number.
3. 2y2+3y+1dly+ 2 ¥R AT
Divide 2y + 3y + 1 by y + 2.
4. AT o TAT BIGUS g(X) = X2 - 7X + 6 & YD © Al o+ P BT AN AT BN |
If o and B are the zeroes of the polynomial g(x) = x? - 7x + 6, then

find the value of o + B.

5. fgurd 9gus x2- 7% RIS AT BN 3R YRID] G I[UNDT & d1d & Fae Dbl

AT B ST B |
Find the zeroes of the polynomial x? - 7 and verify the relation between

the zeroes and the co-efficients.

»
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6. Ko AM A1d & e foTg AHIaR0T x2 - 8x + k = 0 & Ho ardiide 3R
FA B |
Find the value of K for which the equation x? - 8x + k = 0 has real and
equal roots.

7. foard e 9x2- 12X+ 4 =0 BT & &N |
Solve the quadratic equation 9x? - 12x + 4 = 0.

8.  HIGR Al 2,5 8 11 ... @ YA 20 UG BT AT ST PN |
Find the sum of the first 20 terms of the A. P. 2, 5, 8, 11, ...........

9. N WHICR 91! HT USTR A1 o, fRIaT 119f U< 38 & TAT 1691 UG 73 ¥ |
Find the common difference of an A.P. whose 11" term is 38 and
16" term is 73.

10.  p &AM o4 &, afe fag A0, 2) fa=g (3, p) T (p, 5) & TG ¢ |
Find the value of p, if the point A(0O, 2) is equidistant from point (3, p)
and (p, 5).

1. f3=gsii P(1, -2) 3R Q(-3, 4) &I A& drell Y&args PQ &1 1 : 2 & U
# ofa: g o aret fig @ e sd ST |
Find the coordinates of the point dividing the line segment PQ joining
P(1, -2) and Q(-3, 4) internally in the ratio 1 : 2.

12, 9 IS ABCD & fador AC @ BD ek O WR Ufd=sd &d 8, Sial
AB || DC. fig @~ f& ADOC 3R AAOB w#®y ¢ |

The diagonals AC and BD of a trapezium ABCD intersect each other

at O where AB || DC. show that ADOC and AAOB are similar.

»
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13. g o & B9 & RER oG 9 & ds IR 60° BT HI0T I ¢ |
Prove that chord equal to the radius of a circle subtends an angle

of 60° at the centre of the circle.
14.  IfT tanA =1, a1 g &= fF 2sinAcosA = 1.

If tanA = 1, then prove that 2sinAcosA = 1.

2(sin*45° + c0s45%) o 7 T Y|
tan?30° + c0s290°

_ 2(sin?45° + cos?45%)
Find the value of tan230° + cos290°

15.

16. g WX f& sec’A - sec?A = tan?A + tan‘A
Prove that sec’A - sec?A = tanA + tan‘’A

17. I gl & oA HAS: 19 AHI0 iR 9 o & | 9 g @ B A an
Rrae TRRY g7 2T 9o A uRRIET B T B AR 2|
The radii of two circles are 19 cm and 9 cm respectively. Find the
radius of the circle which has circumference equal to the sum of the

circumferences of the two circles.

4 : .
18. IfT sino= - (4 +4sin0) BT AT T B |

5 (1 + cos0)
If sinO = 4 then find the value of (41 4sin6) )
5 (1 + cosH)

19.  Ifq cosecdd = sec(0 - 20°), ST&l 40 T =T BIU &, Al O BT A d
N |
If cosec46 = sec(0 - 20°), where 40 is an acute angle, find the value

of 0.

»
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20.

21.

22.

23.

24.

25.

»

T Il B BT qAT $ATS HHI: 4 H0 TAT 14 H0 €, AT I BT 3T
ST BN |
The radius and height of a cylinder are 4m and 14m respectively

then find the volume of the cylinder.

Ueh FHATE Sl &1 oIT 12 WHI0 & 1 ST &bl S DN |
The side of an equilateral triangle is 12cm, then find its area.

=T faaRor & |1y Y T BN —

TR —3RTA 0—10 10—20 20—30 30—40
IRERAT 6 7 16 10
Calculate the mean from the following distribution -
Class-internal | 0—10 10—20 20—30 30—40
Frequency 6 7 16 10

T DI UTed YOI &A% S BN, Sl 6 HI0 dl, 4 {0 dher 3R 2 o
ST 2 |
Find the lateral surface area of a cuboid which is 6m long, 4m wide

and 2m high.
SIS JUMTAT BT Yo 31eR ATGSIT AT ST 3, AT S TR AR B Bl
TR I N |

A letter of english alphabet is chosen at random then find the

probability that this letter is a vowel.

T GRYT3T 16 AT 28 BT o0 F0 112 & | AT ST H0 0 SId BN |
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The L.C.M. of two numbers 16 and 28 is 112. Find their H.C.F.

26. 30 9cdl @ Uh WG H 5 9od TRIE © | 59 S H I UP dod A1geadT [Farell

ST & | fIeTel T 98 & @RIE B9 & UTidhar s |
A lot of 30 bulbs contains 5 defective bulbs. One bulb is drawn at
random from the lot. Find the probability that this bulb taken out is a
defective one.

27.  FHDIV st ABC H £C = 90° dom CDLAB 2, df g & &b
AB x CD =BC x CA
In right angled triangle ABC, ZC = 90° and CD_LAB then prove that
AB x CD =BC x CA

28. BA PN — 2X+ 3y =113IR 2x - 4y = -24

Sovle ;- 2x+3y=11and 2x -4y =-24

29. g e fp «/ 1+ C0SA  _ o5ecA + cotA
1 - cosA

Prove that :- \/ 1+ COSA _ osecA + cotA
1 - cosA

30. 52 TRl DI I YR A Bl T8 Uh TSe! § | T Ul Hdbrell 91T 2 |

AT T BT IIG9ME YT BRI BT WIRIHdT S D |

One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting a king of red colour.
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<" ST U / Long Answer Type Questions

o G731 W 38 WY SR B | 599 W fhsl 4 U & SR | UAD
geq & fog 5 3fd FIiiRa 2 | 4 X 5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 5 ques-
tions. Each question carries 5 marks. 4x5=20
3. ITHr fafr & g W —

5x-3y-7=0,x+4y-6=0

Solve graphically -

5x-3y-7=0,x+4y-6=0

32. g PN & 31 T9ey Bl & e=hel &l AU STb! FITd Yol & il

& U & SRIER BT B |
Prove that the ratio of the areas of two similar triangles is equal to

the square of the ratio of their corresponding sides.

33. fug o &
sin@ + cosO sinf -cos® _ 2
sinf - cos®  *  §in® +cos® 1 -2cos’0
Prove that
sinB + cosO . sin-cos® _ 2
sinB - cosO sin® + cos 1 - 2cos’0

34. 24 W0 TN I Th AT JAHR a9 § HB U 2 | ST 60

YFITHR BN Al B BB Ths 39 UHR Slel MY & I8 g § [ aRE 4

U Sdfh TAD P MR DI a7 3 I 921 18 0.04 Ho 2| U1 B

»
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R A g8 gig o1a B |

Some water is there in a right-circular cylindrical container of diameter
24 cm. 60 solid conical pieces of iron having radius of base 3 cm.
and height 0.04 m are completely immersed in water. Find rise

in the level of water.

3. YA ® U 5 9 TP 20 HI0 9 99 & RER R ol U6 IR 4A9R &
el Ud RRER & I PIvT HATT: 45° 31X 60° & | HAR AR B SHaTs S
|
From a point on the ground, the angles of elevation of the bottom
and the top of a transmission tower fixed at the top of a 20m high
building are 45° and 60° respectively. Find the height of the transmission
tower.

36. G GBI @ IIf BT 3R 45 ¢ | BICT AT B I¥ g1 F&AT 6 4 T 2 |
ST ARl B DN |
The difference of squares of two numbers is 45. The square of
smaller number is 4 times the larger number. Find both the numbers.

37. 7.6 WHI0 ¢IdTg BT Yeb XGIGUS Wi | 9 VERIUS R U U4 fa=g A =it
I Sl 39 NEREUS Bl 5 : 8 & AU H dic |
Draw a line segment of length 7.6cm. Find a point A on it which

divides it in the ratio 5 : 8.

»
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38.

3THAR 3R AT BT ARTEG AT HT AT 9 : 7 & 3R g7 @Al BT U
4 :3 % | I yAS Afdd ufy 72 H 5000 99T oI &, AT S9! ARID
3T ST DN |

The ratio of monthly income of Akbar and Rohan is 9 : 7 and the

ratio of their expenditure is 4 : 3. If each of them manages to save

5000 per month. Find their monthly income.
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